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public class

StackOfStrings
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void
String
boolean
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push (String s)
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public static void main (String[] args)

{
StackOfStrings stack = new StackOfStrings() ;

while (!'StdIn.isEmpty())

{
String item = StdIn.readString() ;

if (item.equals(“-")) StdOut.print(stack.pop() + ™ “);
else stack.push (item) ;

} °

$ more tobe. txt

to be or not to - be - - that - - -

% Java StackOfStrings < tobe. txt
to be not that or be
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String item = first.item;
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c¥W>wa/ first = first.next;
private class Node
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private String item; null
private Node next;
} first — be
7 to
— //
null

3 0 o o /
spi o pds puaie QWP p

return item;
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public class LinkedStackOfStrings

{

private Node first = null;

private class Node {
private String item;
private Node next;

}

public boolean isEmpty ()
{ return first == null; }

public void push(String item)
Node oldFirst = first;
first = new Node() ;
first.item = item;
first.next = oldFirst;

}

public String pop() {
String item = first.item;
first = first.next;
return item;
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public class FixedCapacityStackOfStrings
{
private String[] s;

- - L—’ ~ L.L' j
private int N = 0; i

/

public FixedCapacityStackOfStrings (int capacity)
{ s = new String[capacity]; }

public int size()
{ return N, }

public boolean isEmpty ()
{ return N == 0; }

public void push(String item)
{ s[N++] = item; }

public String pop()
{ return s[--N]; }

..E
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public String pop() {
if (isEmpty())
throw new RuntimeException (“Empty stack”) ;
String item = s[--N];
s[N] = null;
return item;

}
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public class ResizingArrayStackOfStrings
{

private String[] s;
private int N = 0;

public ResizingArrayStackOfStrings ()
{ s = new String[1l]; }

public void push(String item)
{

if (N == s.length) resize(2 * s.length);

s[N++] = item;
}

public void resize (int capacity)
{
String[] copy = new String[capacity];
for (int i = 0; i < N; i++)
copyl[i] = s[i];
s = copy;
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public String pop()
{
String item = s[--N];
s[N] = null;
if (N > 0 && s.length = 4 * N) resize( s.length / 2 );
return item;
}
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public class QueueOfStrings

QueueOfStrings () c}@ Y, u(,/)a_u/

void enqueue (String s) e (slgil 5 uaie LJJ/C/)

String dequeue () (‘}T(‘)/j’)/djf 9 Lavl ) paie g,(z/cj}ﬂ

boolean isEmpty ()
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String item = first.item;

s ..
s @yl S
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first —> to be N rivate class Node
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null {
private String item;
first o be . private Node next;
— // ° }
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return item;
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last = new node () ;

last.item = “not”;

oldLast.next = last;
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public class LinkedQueueOfStrings {

private Node first, last;

private class Node

{ }

public boolean isEmpty ()
{ return first == null; }

public void enqueue (String item) ({
Node oldLast = last;
last = new Node() ;
last.item = item;
if (isEmpty()) first = last;
else oldLast.next = last;

}

public String dequeue () {
String item = first.item;
first = first.next;
if (isEmpty()) last = null;
return item;
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public class ResizingArrayQueueOfStrings

{

private String[] g’
private int front;
private int rear;

public ResizingArrayQueueOfStrings ()
public int size()

public boolean isEmpty ()

public void enqueue (String item)
public String dequeue ()

public void resize (int capacity)

private int next(int index)

{
return (index + 1) % g.length;

}

ag\)T b @5 SHhwasly )8l
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StackOfObjects s = new
StackOfObjects () ;

Apple a = new Apple();
Orange b = new Orange() ;
s.push (a) ;

s .push (b) ;

a = (Apple) s.pop();

A
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Stack<Apple> s = new Stack<Apple>();
Apple a = new Apple();
Orange b = new Orange() ;

s.push (a) ;
s.push (b) ; < ol @) (sts
a = s.pop(); < & Jird 4l Pae
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public class LinkedStackOfStrings ({

public class Stack<Item> ({
private Node first = null;

private Node first = null;

private class Node { private class Node {
private String item;

private Item item;
private Node next; private Node next;
}

public boolean isEmpty ()

public boolean isEmpty ()
{ return first = null; }

{ return first = null; }

public void push(String item) {
Node oldFirst = first;
first = new Node() ;

public void push(Item item) ({
Node oldFirst = first;

first = new Node() ;
first.item = item;

first.item = item;
first.next = oldFirst; first.next = oldFirst;
}

}

public String pop () {
String item = first.item;
first = first.next;
return item;

public Item pop() {
Item item = first.item;
first = first.next;
return item;




public class FixedCapacityStackOfStrings
{

private String[] s;

private int N = 0O;

public ..StackOfStrings(int capacity)
{ s = new String[capacity]; }

public int size()
{ return N; }

public boolean isEmpty ()
{ return N == 0; }

public void push (String item)
{ s[N++] = item; }

public String pop()
{ return s[--N]; }

! b sjlwosly :syksl)ly saiiy

public class FixedCapacityStack<Item>
{

private Item[] s;
private int N = 0;

public FixedCapacityStack (int capacity)

{ s = new Item[capacity]; }

size ()
N; }

publi¢ boolean isEmpty ()
réturn N == 0; }

pyblic void push(Item item)
s[N++] = item; }

public Item pop()
{ return s[--N]; }
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public class FixedCapacityStackOfStrings
{

private String[] s;

private int N = 0O;

public ..StackOfStrings(int capacity)
{ s = new String[capacity]; }

public int size()
{ return N; }

public boolean isEmpty ()
{ return N == 0; }

public void push (String item)
{ s[N++] = item; }

public String pop()
{ return s[--N]; }

public class FixedCapacityStack<Item>
{

private Item[] s;
private int N = 0;

public FixedCapacityStack (int capacity)
{ s = (Item[]) new Object[capacity]; }

size ()
N; }

publi¢ boolean isEmpty ()
réturn N == 0; }

pyblic void push(Item item)
s[N++] = item; }

public Item pop()
{ return s[--N]; }

\
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Stack<Integer> s = new Stack<Integer>()

s.push(17) ; // s.push(new Integer(17));

int a = s.pop() // int a = s.pop() .intValue() ;
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public Interface Iterable<Item> YCuw> Iterable - “‘jb,bw
{ . o
Iterator<Item> iterator(); Wlo Sy Iterator G aS o SO L DT

}

public Interface Iterator<Item>

{ {Cwu> Iterator . o

boolean hasNext () ;
boolean next () ;
void remove () ;

Zwwl next () ghasNext() slasio sl,lo .z

?&&bIterableggbodbLjALSLadQWf?.u»

Iterator<String> it = stack.iterator(); Lu) 9 ool Lgl.@c\.ii.b U"*“’S" a
while (it.hasNext())
{
String s = it.next(); for (String ? : stack)
StdOut.println(s) ; StdOut.println(s) ;
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import java.util.Iterator;

public class Stack<Item> implements Iterable<Item>
{

public Iterator<Item> iterator ()
{ return new ListIterator(); }

private class ListIterator implements Iterator<Item>

{

private Node current = first;

public boolean hasNext() { return current != null; }
public void remove () { /* not supported */ }
public Item next()
{

Item item = current.item;

current = current.next;

return item;
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import java.util.Iterator;

public class Stack<Item> implements Iterable<Item>
{

public Iterator<Item> iterator ()
{ return new ReverseArraylterator(); }

private class ReverseArraylterator implements Iterator<Item>

{

private int i = N;

public boolean hasNext() { return i > 0; }
public void remove () { /* not supported */ }
public Item next() { return s[--i]; }

: A )5))35
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public class Bag<Item> implements Iterable<Item>

Bag () 6w I 5ty

void add(Item x) wd ptie A )

s @8 () a5 >9850 p0ls 518 3150

add( ) Iterable<Item> iterator () >9850 polic Plos 69//1/17//1{

(dequeue j539) o b (POP (y94) aldy (5 5lwosly
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gcd (216, 192)
public static int ged(int p, int q) {

if (g == 0) return p;
gcd (192, 24)

public static int gecd(int p, int q) {
if (g == 0) return p;

S oo g3 1, oy 4 ol ATl Al O
.05.0.3 ool u.m.f)b 6&@‘9}‘;‘3 RS LS‘)? A..MM.: )‘ u‘ﬁ"s" o)|9.<u'b (m]

public static int gecd(int p, int q) ({
if (g == 0) return p;
else return gcd(g, P % q);
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public class Evaluate {
public static void main (String[] args) {
Stack<String> ops = new Stack<String>() ;
Stack<Double> wvals = new Stack<Double>() ;
while (!StdIn.isEmpty()) {
String s = StdIn.readString() ;
if (s.equals(" ("))
else if (s.equals("+")) ops.push(s) ;
else if (s.equals("*")) ops.push(s) ;
else if (s.equals(")")) {
String op = ops.pop () ;
if (op.equals("+")) wvals.push(vals.pop() + vals.pop())
else if (op.equals("*")) wvals.push(vals.pop() * wvals.pop())
}
else vals.push(Double.parseDouble (s)) ;

}
StdOut.println(vals.pop()) ;
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